A =|
RB
5 =
ROMIBEDEZERDEL, DN TCERHEIENDET B,
5 17 1 x 17 17 1 37 3 x 1 3
(1) X = = (11) 2 X = =
23 25 23 x5 115 37 50 1 x 2 2
9 2 37 x 1 37 11 6 11 x 3 33
(22— x — = = (12) x = -
14 3 7x3 21 26 19 13 x 19 247
1 2 17 x 23 391 1 8 1x 19 19
(3) 8= x 3= = - (13) — x 1— = _
2 7 2 x 7 14 4 11 4 x 11 44
16 15 4 x 99 396 2 11 7 x 23 161
4) — x 3 = = (14) 1— x 1 = =
37 28 37 x 7 259 5 12 5x 12 60
2 3 86 x 6 516 5 1 1 x 31 31
(5)4— x 3— = = (15) — x 3 = =
21 5 7 x5 35 23 10 23 x 2 46
3 4 19 x 47 893 3 2 11 x 57 627
6) 1T—— x 18— = = (16) 2— x 11— = =
16 5 8 x5 40 4 5 4 x5 20
2 5 5x5 25 1 3 97 x 8 776
(1) 1T—x —= = (17) 32— x 1— = =
3 8 3x38 24 3 5 3x5 15
13 7 27 x 16 432 26 9 13 x 65 845
(81— x 1— = - (18) — x 4— = _
14 25 7 x 25 175 31 14 31 x 7 217
7 16 7 % 8 56 1 27 7 x74 518
9) X = = (19) 2— x 1 — _
10 29 5x 29 145 3 47 3 x 47 141
1 23 x 1 23 7 1 36 x 22 792
(10) 6— x — = = 20) 1— x 3— = =
6 7 x3 21 29 7 29 x 7 203
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